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Instructions :

AW (i)
(ii)

Note : (i)

330330 BRTH daee%md%@ﬁ 890,

8

(2) 2TCHL DT VFRT HFOPLV VD, VT TI), TP, WD Tone
BFENTI), TR TL” WFAD.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

gon-I / PART -1

DY TINTZR, WIOR. 30x1=30
&ra@g o, e:sofx%ﬁ@ocs &8 z’».raimzs wgdw?nol 302 m@g e:soﬁ% ﬁosﬁéofbaival
B BORT WITHI, 2F0N0.

Answer all the questions.

Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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1. QDT BRTODI, BRBLOIVITIT 2,000 WBRTIE dreEs Bow 3 VOWNTY W
3eIRZ, WITWODROY :

(a) MReYT IPTN (b) ©TT BHed; Ped

() Reess wen (d) 2TBZOZ TR, TRTTY

A hollow metal ball carrying an electric charge produces no electric field at points :
(a) outside the sphere (b) on its surface

(c) inside the sphere (d) at a distance more than twice

2. Tedeod 3EF OB 1077 cm ! Q3T 0w @903 Jeamw WFAOT 2 B0.QWeE.
TRTT VODITY DWNE” eI :
(a) 4.5x10* NC~1 (b) 9x10* NC~!
() 9x10>2 NC~! (d) 18x10* NC~!
The electric field at a point 2 cm from an infinite line charge of linear charge density
1077 ecm~1is:
(a) 4.5x10* NC~! (b) 9x10* NC~!
() 9x102 NC~! (d) 18x10* NC—1

3. 3INIYNEY 03nT BRIy FewoD® (F03T) SNT 2

(@) BFIRSC® oW (b)  WE T3

() DWE geg em3 (d) QN TBFE
Which of the following quantities is scalar ?

(a) dipole moment (b) electric force

(c) electric field intensity (d) electric potential

4. DO q) BB q, WOEENATI, MOVONY 1’ BRTTY VOISINT. WTF qy 1 WOTF
qp VT BIOR B WEE g, I} WoEFF q; I TIOD YDIWIY) :

q q 2
@ g ® o © 1 (@ [3—;}

Point charges q; and q, are placed in air at a distance ‘r . The ratio of the force on
charge q, by charge q, and force on charge q, by charge q; is :

q q 2
@ 4 ® o © 1 (@ [3—;}



~CAREERINDIA

3 6681

20T YOTROT TETRCTIT WY FOFESY O, FT, FOW IWT) FoT. BEBREFTH
@@5@ :

@ 100 +5% b) 1kQ +2% © 100Q +2%  (d) 10Q *2%

The colour code of a carbon resistor is, Brown, Black, Brown and Red. The value of the
resistor is :

(@ 100 +5% (b) 1kQ +2% (€ 1000 2%  (d) 10Q 2%

BT AWIMY MORBRNTIY FIIIN TIT — 30w F030H), WHOARNTTDIT
DBOTT /Y,

(a) ), HOTIIOWT.

(b) TS TReFSeOZNT.

() TG cdoEF AR BeF ITST V3.
(d) =S cdodeF LAR Ry XS AT

Phosphor-bronze wire is used for suspension in a moving coil galvanometer, because it
has :

(@) high conductivity

(b)  high resistivity

(c) large couple per unit twist
(d) small couple per unit twist

BRLIT FRRFFTIY, 3@3"% BOBRIOIR) :
@ A& SNV,

(b) 2e2 ROTI'I THTWWTE, WVOOVATITT.

(€) AW'RTFD® ToTRRITT S WB/OORATIZT.
(d) (b) R (c) HTEH

In a given thermocouple, the neutral temperature :
(a) is a constant

(b) depends on the temperature of cold junction
(c) depends upon the temperature of inversion
(

d) both (b) and (c)
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T FORFTT QBTG TooDF IHRIT

(@) QODY T

(b) BRCDY [P

(€ R DD B HTETY

(d) BANOT RODY ©8 T3 TOFFIRFVORTN

Transformer works on :

a) AC only

(

(b) DC only
(c) Both AC and DC
(

d) AC more effectively than DC

QWEFTR, (current) FOONSIOT L0, ABRF LT TICDAW. D& RITELOT N :

(a) e WD (b) A & OOTFTISd
(c) A DO (d) 2R

The part of the AC generator that passes the current from the coil to the external
circuit is :

(a) field magnet (b) splitrings
(c) sliprings (d) brushes

LCR 303 ABRF W), 240V & BRI@BR BoeRIenns. odons (3ARST) 3Q Vi,
Vi, B Ve BPOR) oD3THTN

(@) 80V, 80V 3y 80V (b) 120V, 60 V@ 60V
(€ 240V,120 Vaha 120V (d) 180V, 40 VaHay 40V

An LCR series circuit is connected to 240 V A.C. supply. At resonance, the values of
Vg, Vi and V- are respectively :

(a) 80V,80V and 80V (b) 120V, 60 V and 60 V
() 240V, 120 V and 120 V (d) 180V, 40V and 40 V
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5A 0% 2,000 BRACINV 83 Q0D I JoT wammﬁ% PTDRART :

(a) 50 Arms QTS (b) 5 A MO TS
() 5Arms QNS (d) a®) csPPD ©g
A DC of 5 A produces the same heating effect as an A.C. of :
(@) 50 A rms current (b) 5 A peak current
() 5 A rms current (d) none of these

TORT TOFTRRTY, VRWOLT TeROReTTT TOM0STEY 5890 A. 3800333 ARes
W) B0oLIRRCT TeBNW WITTN :

(a) 5880 A =03 5900 A (b) 5900 A =3 5880 A
(c) 5900 A =3 5910 A (d) 5870 A =03 5880 A

In Raman effect, the wavelength of the incident radiation is 5890 A. The wavelengths
of Stokes” and anti-Stokes’ lines are respectively :

(a) 5880 A and 5900 A (b) 5900 A and 5880 A
(c) 5900 A and 5910 A (d) 5870 A and 5880 A

20T TROT BFTZY, DFERINOT DJEATGONT. 030N DJERIR STLNISOMTTIAE,
SR BRODBRTNB 3T SeTFOM

(a) TUIMPOY

(b) AEPTN MOFBNODE YVPOINTT
() 7oz B BRZT IHF BRI
(d) Hoxy B RTB SR LTSI

Light from a source is analysed by an analyser. When the analyser is rotated, the
intensity of the emergent light :

a) Does not vary

(

(b)  Remains uniformly dark

(c) Varies between maximum and zero
(

d) Varies between maximum and minimum
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15.

16.

17.
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60° TRNTTED ERETF, L.0T [JPFINT [EETTO BRWOTH)
(@) 1.732 (b) 1.414 () 1.5 (d) 1.468
The refractive index of the medium, for the polarising angle 60° is :

@) 1.732 (b) 1.414 © 15 (d) 1.468

SRWAT DY IRRMBY, m DL (m+4) MF DI Sy OFRTN
J5 mmI) 7 mm. mI TPY D ?

@) 2 b) 4 (c) 8 (d) 10

In Newton’s ring experiment the radii of the m" and (m + 4)th dark rings are respectively

V5 mm and /7 mm. What is the value of m ?

(@) 2 b) 4 () 8 d) 10

RORTF TOBREDDIY, TPNT 0350F  TOBIEINWD ﬁ@% Shviclan] ﬂgcsf 6@9371@553%
wey
em@w&):bgd 9

(@ 6—2 by 2-1 (c) 4-3 d 5-2

In hydrogen atom, which of the following transitions produce a spectral line of
maximum frequency ?

(@) 6—2 b 251 © 453 d) 52

PEF" (o). VRWOD" (p) B B’ (d) NF¥R, WRNE JDFF W FNTYOZ DOFOD
BeedonQ AdA.

(@) ep d (by d, pe () ped (d dep

Arrange electron (e), proton (p) and deutron (d) in the increasing order of their specific
charge :

(@ epd (by d,pe () ped (d dep
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3RIF, $RWIOT mdmmeas PE-Te TOEIVTEDITOE 20T FeetIS BCI [TWOOT
QTS :

(a) THOOH FBoZ @5@85 BOT FIOWOT

(b) THOOD ©OIPAT WO JIOWOT

(c) IBRTIT @eﬁz@j’bs BOT 3BCNOT

(d) OO TT[RERNT TOBJSEIOWOT

The energy of a photon of characteristic X-ray from a Coolidge tube comes from :

(@) the kinetic energy of the free electrons of the target

(b)  the kinetic energy of the ions of the target

(c) the kinetic energy of the striking electron
(

d) an atomic transition in the target

ROWTT VTBIEDNT  TH0 agwseg mﬁ%@p‘ AJWEFOIN —13.6 eV. YT xoa:owé
33O :
(@) 13.6 eV (b)y 27.2eV (c) —272eV (d) —-68¢eV

The energy of electron in the first orbit of hydrogen atom is —13.6 eV. Its potential
energy is :
(@) 13.6 eV (b)y 27.2eV () —272eV (d) —6.8eV

MG@%@@@eﬁia@ TOTBoINR) ATT HSHI0H w0 DWOTWTOW :

(a) BT TPTJEROT AOHT (b) B33 3Ton oD
() 33T QTT0OD ORI (d) B9 TWOLIT ORI
The photoelectric effect can be explained on the basis of :

(a) corpuscular theory of light (b) wave theory of light
(c) electromagnetic theory of light (d) quantum theory of light

2,00 HReLARIRRWH" ed T ST SRBERP) 5x 101 Hz. omoa@d e e QoT
FPNT OSTVR)T aﬂ.@e&i@e@@g)ﬁ TOTTOTB/I), YOTVOTT ?

(a) AReRONO FeTT® GO (b) TR SexT®

(c) He-Ne Sexc® (d) (b) DB (c) HTBE®

The threshold frequency of a photosensitive surface is 5x10* Hz. Then which of the
following will produce photoelectric effect from the same surface ?

(@) Sodium vapour lamp (b)  Ruby laser

(c) He - Ne laser (d) Both (b) and (c)
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23.

24.

25.
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1A 33 148128?}@823’71% QW3 YVTTOTTFHOIW

(a) ORRCARCETFIN (b) DRRCLRT N
() BRI (d) RRET N
The nuclei 13A* and 1,5i%8 are examples of :

(a) isotopes (b) isobars

(c) isotones (d) isomers

2.0 JRFF SRICDT'T TF00d BReRP 0.03 amu D0 FOWELRONTVOWD. VWD

aﬁéo@orf 5§o&w :
(a) 27.93 eV (b)  27.93 keV (c) 27.93 MeV (d) 27.93 GeV

The mass defect of a certain nucleus is found to be 0.03 amu. Its binding energy is :

(@) 27.93 eV (b) 27.93 keV (c) - 27.93 MeV (d) 27.93 GeV

BRODY YVTOIRENTT TeRBO3RE — DZBPCERET
(8) 5P (b) 5P (© pNa* (@ 1 Na*
The radio-isotope used in agriculture is :

(a) 15P31 (b) 15P32 (c) 11NE‘123 (d) 11N324

deofnafabcgf DRNRD ‘”%.raébeéﬁ@&@ 2,0T5¢ L9033 Csmz%% 33eONSD 23eBe3edod %adoaamfén
(traces) em@@moéﬁ és; DNTOND VT, Nowodwwm

(a) VRPN (b) VRRELVTTND
() &ARCEIRET TN (d) IS VPRI @Y

In a Bainbridge mass spectrometer positive rays of the same element produce different
traces. The traces correspond to :

(a) isotopes (b) isobars

(c) isotones (d) none of the above
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BRT VT LSBT ARFLUIQY ¢

() BTVALD PETLVFR), YOTOIRENTRMITI
(b) R TR/, YOTOIRENIOMOIT
(€) wRF INAT LC IRFLI, WToIRNIRMIOY
(d) 3BTALWTIZY, WBC3RENTRNMRDY

In a Colpitt’s oscillator circuit :

(@) capacitive feedback is used

(b) tapped coil is used

() mno tuned LC circuit is used

(

d) no capacitor is used

308 tRJITOT DNWT 3eAT ROTT BRTNLD TSI T, BYNE 3STO" ex
el é)dacgp TITWIOIW. 20T Ve LeR DWIH, ﬁz%;%zﬁd, ORNG :

(@) Vg DI (b) I BHIE

(0 I B33 (d) Ve B

The emitter base junction of a given transistor is forward biased and its collector base
junction is reverse biased. If the base current is increased, then its :

(@) Vg will increase (b) I will decrease

() Ic will increase (d) Ve will increase

BTDE BTTESIS @oQﬁéwvs RIS TETRCTR) BWT0Z SN :
(a) ©TT AVE" IWF* 3R,

(b) ©TT Ve TETweer @B

() ©TT Bedtr gpedeer Snew BSCRFOOT FTOTTMIT.
(d) ©BROW IWFTT I0D0IT TFIZOMTT.

Since the input impedance of an ideal operational amplifier is infinite :
(@) its input current is zero

(b) its output resistance is high

(c) its output voltage becomes independent of load resistance

(

d) it becomes a current controlled device

[ Turn over
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29.

30.
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Jerodne eRBWee0TY RF 503" 3T, WwEvhWET :

(d)

0 FOBEINTR,
NOT $ETES §e00NT ITONNTI),
IS0 BOBEBNH B NOFK BTTFS $eO0NT” FTONNK DTER®

FIF B[S FeOODT” FTOMNWD

The RF channel in a radio transmitter produces :

(a)
(b)
(©)
(d)

audio signals
high frequency carrier waves
both audio signal and high frequency carrier waves

low frequency carrier waves

FM &30 00e830°S DT008 $@8F Sy 98.5 MHz. 3008 $R[ZFaT 9@503 3R 0
NOR UB/IFIY ATER IRNTY OZFTON

(d)

98.400 MHz 335  98.600 MHz
98.450 MHz 335  98.550 MHz
98.425 MHz #0283 98.575 MHz

98 MHz 333 99 MHz

The resting frequency of FM transmitter is 98.5 MHz. The allowed minimum and
maximum frequency on either side of the centre frequency are respectively :

(a)
(b)
(©)
(d)

98.400 MHz and 98.600 MHz

98.450 MHz and 98.550 MHz

98.425 MHz and 98.575 MHz

98 MHz and 99 MHz
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weon — II / PART - II

TRUWN 1 O3NT)TTETIR aaﬁém TBI NI, WZOX. 15x3=45
Note : Answer any fifteen questions.
31.

32.

33.

34.

35.

36.

37.

38.

@eizzﬁf céécﬁrae@@ ROTITEI ? @eﬁzzaf édeﬁmef mdaou:n‘% mémé‘a%).

What is an electric dipole ? Define electric dipole moment.

SROUT FODTY TOT LINTE YYD BT I IRPYTBIOZ WTES D ?
Why is it safer to be inside a car than standing under a tree during lightning ?

29633:5 ZDO:’D?)DS?D‘% SP.
State Ohm’s law.

200 mA &)méaf QTR m&%zﬁcg WOTD WOTNNT sDRWT ToHed 1020 @6%@5#%
=
OT, BB IRDEARTT ? [e=1.6x10"1 (]

How much time 10?0 electrons will take to flow through a point in a conductor so that
the current is 200 mA [e=1.6x10"19 C] ?

FOTBeOD @@%@Jeﬁé%ﬁf QODTNTD, I9A.

State Faraday’s laws of electrolysis.

DT TN TFINGY TOIRENTT DT FUWING MEOTEONTD 03P ?

What are the characteristics of heating element used in electric heating device ?

PWOTT WOT], AONTT/I, YA
State Fleming’s right hand rule.

20T D wR3ee3at 10,000 msimvzm mda@?o:bmg{ msg é)ﬁgesar@ 100 Zo.0e.2
BROOT. WY 140 rpm 3REAOD BT 3.6x1072 T T[T ©0ODAY0OD
3e3BQ STMDITT.  FeOT ADONT'R NOF SPOTR), TOBELROWO.

An a.c. generator consists of a coil of 10,000 turns and of area 100 cm?. The coil rotates

at an angular speed of 140 rpm in a uniform magnetic field of 3.6x 102 T. Find the
maximum value of the emf induced.
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39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

IV' CAREERINDIA
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‘Qm@éw BeR0DETYT CIPYTIDTTR FRTD YOTOIRENNTRY, LTEN0.

Write any three uses of infrared radiations.

2,000 60 cc AFT TRWEOTZ), BROOT 300 mm WTT LBRHWI), TRCLVVNCLOTY
QORTIN 9° ST T, YOTIOATT. 2.0 3¢9 ADF R SB/BFIPY) 60° BTV, TROTIWLI
RS TRIEOBWI, FOWLRCN0.

A 300 mm long tube containing 60 cc of sugar solution produces a rotation of 9° when

placed in a polarimeter. If the specific rotation is 60°, calculate the quantity of sugar
contained in the solution.

T ~TONY CIPFYTOTTR =R BIGEOD @%o;’n%m#cﬁaol WBON0.

Write any three medical applications of X-rays.

woRITE G wrE (Rydberg) 300083 1.097x107m ™. S oedi Reg STorwogsn
SNSCNT), TOTELRBAWD.

The Rydberg constant for Hydrogen is 1.097 X 107 m ~ 1, Calculate the short wavelength
limit of Lyman series.

OSetdE0d WO ATHOTT TRTSETF NI, S9A.
State the postulates of special theory of relativity.

5356 o:ozbc1 méma@%).

Define curie.

SRERPTNY 03PYTIWTBIR BT TOENTI), WI0WO.

Write any three properties of neutrons.

WOT @o@aﬁéojac% aro?sozs%bcia’mol WVETORA.

Define bandwidth of an amplifier.

LTBeSSS* @o@jﬁéojadmd VT3 RENR Sé’soeorv‘ @oe;@éo:bo@s xmérw‘ WIBD, WER.

Draw the circuit diagram of a summing amplifier using an operational amplifier.

QOYT AT WT[TT DOTTED 7 DT YOTRTTHRNY), TRA.

What is an intrinsic semi conductor ? Give two examples.
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100 © BREFFOTOT 20T MOLBLENCEITT, 03PYT NOF 1 mA QWIR, WToITRe
VTN, 1V 2007° QT ms@sarﬁ DB %)pcﬁ Breersd 900 ) FT8oRY  Beed
2TNCLIT® BN DORSFICONT. O30T 20T m&s &aeqiswm‘% OYTON WO
0.1 mA QOWF LINIT. TRFTT IPOBI, FORELRBOWD.

A galvanometer of resistance 100 () which can measure a maximum current of 1 mA is
converted into an ohmmeter by connecting a battery of emf 1 V and a fixed resistance
of 900 ) in series. When an external resistance is measured the current reading is
0.1 mA. Calculate the value of the resistance.

SeR03ee3TON TRTRT DNG AN BRI ?

What are the different types of radiowave propagation ?

on -III / PART - III

B () 54 30D TIOHI, WO ©UBOA. 7x5=35

Note :

51.

52.

53.

(i) V9T 11TFNYY CIPJYTRT3IR ST, TINTI, YWSOR.
i) ©NIHNT FENTY WIRTR, WTCWD.
i)  Answer question number 54 compulsorily.

(
(
(i) Answer any six of the remaining 11 questions.
(

iii) Draw diagrams wherever necessary.

RTTOOZT FPeeF oT3B oo @mg TTWORD.

Deduce an expression for the capacitance of a parallel plate capacitor.

QeTrAReT I WESY VE FEROIT R SoDT, TECWD.

M 2

Obtain the condition for bridge balance in Wheatstone’s bridge.

m&goifae@amdm‘% NTOSRENR T A NS QRORTR), TR TRDTWTVT ?

How can e.m.f. of two cells be compared using potentiometer ?
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55.

56.

57.

58.

59.

60.
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XY FH300Y Bemss xomm) 100 ms™! SIensd zdzoend. Beesd 1072 T
QAT 20T FBWI WONAYO0SCON FeZ Z-0T 3@ [SFAVITT. T [ G0N TP
SRB, BOBWLAWD. (BRLRDT BROO 3.32x10~% kg 0B BARIT 30EF
1.6x10~1° Q).
Dlotovol

20T 20 0.50¢. SWATT BTFOOT BTYR 100 WIRAE odNeH =T AW
5A QWI, LoIT. MDTLOD 3e0TROT 20 Fo.0e. BHTBY ©TT W3RN
2,00 WOTRNTY WODATY0SCOD YOTWFI I, FOWELREND.

A stream of deutrons is projected with a velocity of 10* ms~! in XY-plane. A uniform
magnetic field of induction 10 =3 T acts along the Z-axis. Find the radius of the circular
path of the particle. (Mass of deutron is 3.32x10~27 kg and charge of deutron is
1.6x10~1° Q).

OR

A circular coil of radius 20 cm has 100 turns wire and it carries a current of 5 A. Find
the magnetic induction at a point along its axis at a distance of 20 cm from the centre
of the coil.

NFTT ARSZROIT, (SDIRHON) F-180eTFI0DH SYBITD, THNO.

Obtain an expression for the self-inductance of a long solenoid.

DEBHT, AOHTHH, S92 I HIO

State and explain Brewster’s law.

?msc;ﬁ.raezs@ 3TN O3TVYTIVTTR. T THEIVTEINTT), 2TAWO.

Write any five properties of cathode rays.

VRO BeNR R-LLNOD STOMPOITE, WPTT JHOWO.

Derive an expression for de-Broglie’s wavelength of matter waves.

Prcgdpe HBET FOTNY O3WRYTIITIRL 0T @%om%ﬂ@mq WTBON0.

Write any five applications of photo electric cells.

2,00 003WTT 32 MW T0BY HFRFODR), ©RRHWET. ,U° T B8 Fdoan
VNBITOT QETI Y 50935me BOWELRBONO. BTG QWS IO 200 MeV 0T
TONEBR.

A reactor is developing energy at the rate of 32 MW. Calculate the required number of
fissions per second of 4,U?*°. Assume that energy per fission is 200 MeV.
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62.

Note :

63.

64.

65.
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B BANFTS THeoPNTR, S92 B WYX,

0

State and prove De Morgan’s theorems.

10 mV &5o0,000% 10 MHz F3eA003)e° 3e00DT° TORADZY, 6 mV B,5000003
5 kHz 383000e" 95, Bo3eE ITONQOT RRemUeET SRBOINGD.  BOToRE
draec.ﬁ%dew BT ITONT SJIES TRINTI, W) ©TT ﬁém@@m& TOTEROWD.

A 10 MHz sinusoidal carrier wave of amplitude 10 mV is modulated by a 5 kHz

sinusoidal audio signal wave of amplitude 6 mV. Find the frequency components of
the resultant modulated wave and their amplitudes.

won — IV / PART - IV

() cImREUe Ty, BT, ITTTN WIOA. 4x10=40
(i) SNZHDT IERTY IR, WGWO.
(
(

i)  Answer any four questions in detail.

ii) Draw diagrams wherever necessary.

TE B MOF° BITEOI IINYW, 9 WY IV OB, 3T FODRFNTT, DWOA.

State the principle and explain the construction and working of Van de Graaff generator.

@dagmd aqomé%dow Chlekc] emcécs DT DOBBROT 2,07 ALSIAVIALSISICT AV @oﬁa‘@oéeoﬁa
B ReTI3A @@aﬂﬁ TBOWD. ‘W VW oL dsaq%a’ncﬁ@q m&%aﬁa’% fa@sgﬂ @oﬁam&o\%eojs
BRCTTIN @a;)wéiwabol W3CW0.

Derive an expression for the magnetic induction at a point due to an infinitely long
straight conductor carrying current. Write the expression for the magnetic induction
when the conductor is placed in a medium of permeability “p’".

2,000 TOIWEOR YRORT WARVTI), BETReFE R, Q0BIT° L D) oos C AT
ROO3RERBOIRODN ERCRICONG. FIT® 8T B VO, W FHOODTRODN ARINOR
OYWT JWOWO : (i) TOFIITVO Fpeees® (i) oRT, (iil) FTo" BBy Jpedees
JD PEI BOWOT

A source of alternating e.m.f. is connected to a series combination of a resistor R, an
inductor L, and a capacitor C. Obtain with the help of a vector diagram and impedance
diagram, an expression for (i) the effective voltage (ii) the impedance (iii) the phase
relationship between the current and the voltage.

[ Turn over
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66. OO, BWS® Q& BOSRENTY BOWTHT', ROWNY LVOT AT VRBJE TTOWO.

Derive an expression for bandwidth of interference fringes in Young’s double slit
experiment.

67. 0o SeRT BT 8T Y. HIRF SWYT T FTOODTROOT WTT THODF I,
QTJOA.

Draw a neat sketch of Ruby Laser. Explain its working with the help of energy level
diagram.

68. neno® — WOYT* TOOITTR JWIOFD :n?g ﬁojarmﬂmq RO,

Explain the construction and working of a Geiger-Muller Counter.

69. QETLRFT DOTT DIFF 7 INFOYE YT LRF SRODN DOYFHONT Fpedees feod
@a,méi TTOWD.

What is meant by feedback ? Derive an expression for voltage gain of an amplifier
with negative feedback.

70. RADARGS SINR¥a), I T00DNFRATR, LTs B3R5 $TWR0ON D[OR.
Explain the principle and working of RADAR with neat block diagram.

-00o0-



